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Bridge

Upping the Percentages
  Assume you’re in three notrump and West

leads a spade.
You win East’s jack with the ace, and the

problem is what to do next.
Actually, there’s only one correct way to

proceed, and, if you find it, you get home safe
and sound.

You lead a low club at trick two and, after
West follows low, play the ten from dummy.

As the cards lie, this somewhat irregular fi-
nesse makes the contract.

You eventually score four club tricks, two
spades, two diamonds and a heart.

But if you lead a club to the king at trick
two, instead of playing the ten, you are almost
sure to finish down one.

The advantage of playing the ten from
dummy is that you make four club tricks not
only when the suit is divided 3-3, but also
when the suit is divided 4-2 and West started
with the Q-x, J-x or Q-J-x-x.

These possibilities cannot be lightly
brushed aside.

Thus, if you played only for the clubs to be
divided 3-3 — by cashing the K-A and con-
tinuing with a third club — you would have
only a 36 percent chance of finding the suit
evenly divided.

But if you play the ten from dummy at trick
two, your chances improve to about 58 per-
cent because of the possibility of finding West
with either a doubleton honor or both hon-
ors.

 In essence, the outcome of the hand rests
on whether or not you make four club tricks,
and leading to the ten at trick two offers by
far the best chance of achieving that goal.

  Tomorrow: Bidding quiz.
   (c)2006 King Features Syndicate
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Zits • Jim Borgman & Jerry Scott
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Conceptis Sudoku by Dave Green

Difficulty Level 1/04
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Difficulty Level 1/04


